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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS8==ZNE(5E823) NIAE
7,000,000& 202 *50% 70,000
OJtx Hoed S2M XNEAY 50,000
03 212t EF AL HI 130,000 130,000 0
OFS ATHH AN HAY
10,000& 10,0005 *100% 100,000
O=&eola XFAAS  250,000& «1205 *100% 30,000
StRAGRHAIE (EX) 167,040 101,460 65,580
< 50,112
Al 116,928
402 RI2EX20| N 167,040 101,460 65,580
< 50,112
Al 116,928
02 QI 2 A EZ(0OI X THE) 18,000 12,000 6,000
O8E+2 MNEEH XNFAY
30,000,000 *60% 18,000
< 5,400
Al 12,600
03 212t & AL S HI 149,040 89,460 59,580
Oga RASEE HEXNFAY
90,000, 000& =100% 90,000
= 27,000
Al 63,000
Onsg A=z NN
44,040,000 x100% 44,040
< 13,212
Al 30,828
OSOLAl Marord XI& AR 30,000,000 «50% 15,000
< 4,500
Al 10,500
St EXHEQl HA NAAG (MEALY) 60,000 60,000 0
< 18,000
Al 42,000
402 RIZER20l A 60,000 60,000 0
< 18,000
Al 42,000
03 212t &AL S HI 60,000 60,000 0
Ot & Aratel HAL X3 A
120,000, 000& *50% 60,000
< 18,000
Al 42,000
ISANEDZ2LHIUSAAE RS (M EH 20,000 0 20,000
< 12,500
Al 7,500
402 DI2HX 20| & 20,000 0 20,000
< 12,500
Al 7,500




SN EAD
My B4 AMY L3
SRl BAFYMADBTE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 20,000 0 20,000
ONFAE ZZ2ULH9 HEAIAE IS ALY
25,000,000 *80% 20,000
< 12,500
Al 7,500
M= AL (XA 160,000 160,000 0
402 QIZ2HXHE01 M 160,000 160,000 0
01 2I2E 2 A B (KR 80,000 80,000 0
Ox=ste I8 XA 80,000
03 212t EF AL HI 80,000 80,000 0
Oz=¢gt2 Eotdecis NS
80,000,000 x100% 80,000
SHsMASEAG (XHA) 374,000 313,000 61,000
402 RIZEX20l A 374,000 313,000 61,000
01 U2 E2AILE X (KA 149,000 88,000 61,000
O&RAL FHAILE  EH Slst N3 AMY 100,000
OR2 AT4+F YU UMY
20,000& *2,500st *50% 25,000
OFFAE MEH XA
30,000& *1,600= *50% 24,000
03 212t &AL S HI 225,000 225,000 0
ORA S22 /I8 XA
150, 000& *2305 1290 & »50% 207,000
OXRALZEE XNEAY 20,000 9005 18,000
HSMASHAMG(EX) 30,000 30,000 0
< 9,000
Al 21,000
402 BI2FX=20| M 30,000 30,000 0
< 9,000
Al 21,000
03 212t & AHH HI 30,000 30,000 0
O4ds & NI AL
100,000& 300 *2H x50% 30,000
< 9,000
Al 21,000
ASP2s M 2K (MEAY) 9,600 48,000 38,400
< 8,000
Al 1,600
402 QIZ2HAHE01 M 9,600 48,000 A38,400
< 8,000
Al 1,600
02 QIZEHEAILSEZ (01X ) 9,600 48,000 A 38,400
OFBZSR MaJ|E RE ALY
16,000,000& *60% 9,600
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SRl BAYYMAIBRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 8,000
Al 1,600
I2(&, el )adsAaAd (KAl 60,000 42,000 18,000
402 BI2H X 20| M 60,000 42,000 18,000
01 It EANSEXR (M) 60,000 42,000 18,000
OJI2 S4&AIE &Y stie AEAIY 60,000
ZAUHIIIZSAMASSHE NS 72,000 138,000 A 66,000
= 21,600
Al 50,400
402 SI2F X201 & 72,000 138,000 A 66,000
= 21,600
Al 50,400
02 BIZtXIEANYEX(0OIETHH) 72,000 138,000 A 66,000
OZSUHl JIsSAE SHMHE XJAY
120,000,000 *60% 72,000
= 21,600
Al 50,400
SAAMASHALS (KHA) 50,000 35,000 15,000
402 SI2FXHE0| M 50,000 35,000 15,000
01 SI2ZEXIEANSEX (MMM E) 50,000 35,000 15,000
OEI A JIXMH KA 25,000
OEEA 2 NEAY 25,000
SN A USAY(HE)(HEAY) 16,800 8,400 8,400
= 14,000
Al 2,800
402 BI2H X 20| M 16,800 8,400 8,400
= 14,000
Al 2,800
02 QIZEXIEAISE X (0| XM THL) 16,800 8,400 8,400
O A B 2AIALY 28,000,000 x60% 16,800
= 14,000
Al 2,800
ASZ2LHX S AL 6,000 58,250 AN52,250
& 1,800
Al 4,200
402 SI2FXHE0| & 6,000 58,250 AN52,250
& 1,800
Al 4,200
02 BIZtXIEANYEX(OIETHH) 6,000 58,250 NB2,250
OAE 21223 XS AL 12,000, 000& *x50% 6,000
& 1,800
Al 4,200
Z2YUMAS LA (XHA) 210,000 190,000 20,000
402 SI2VXHE0| & 210,000 190,000 20,000
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600
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360,000
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360,000
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a4 AW L
SR SMEIMAI|EASF (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 56,000
O2F At g XA 400,000,000& *70% 280,000
= 120,000
o= 48,000
Al 112,000
BAASHAS(EX) 462,500 0 462,500
J| 227,050
& 69,195
Al 166,255
307 212t0| & 125,000 0 125,000
J| 58,300
& 18,570
Al 48,130
02 I2tF AAIH B X 125,000 0 125,000
Ogete 202 2 u I 2H(BA)
75,000,000 *100% 75,000
J| 37,500
o= 11,250
Al 26,250
Os0tatY 43 XA 4,000,000& *x50% 2,000
= 600
Al 1,400
Ot S0 E XISAY 64,000,000& *70% 44,800
J| 19,200
o= 6,400
Al 19,200
OAtal 22 =0HE XALY
3,200,000 *100% 3,200
J| 1,600
o= 320
Al 1,280
402 Q12+t X 20| & 337,500 0 337,500
J| 168,750
& 50,625
Al 118,125
02 QX2 A E X (0| THH) 337,500 0 337,500
QUMY MIolad A2 (XE)
337,500,000 *100% 337,500
J| 168,750
o= 50,625
Al 118,125
EME0F ICTEEEXNH(EX) 243,426 119,800 123,626
J| 243,426
402 Q12+t X2 0| & 243,426 119,800 123,626
J| 243,426
02 X2 A E X (0| & TH) 243,426 119,800 123,626
OFMZO0E ICT 58 SAF XNSAY
811,420,000 *30% 243,426
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(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Jl 243,426
DB NSHHAL(RX) 42,000 41,600 400
< 12,600
Al 29,400
402 2I2H X201 M 42,000 41,600 400
= 12,600
Al 29,400
02 QI E2AISEZ (OIS ) 42,000 41,600 400
OFAIIXI K& A 50,000,000 *50% 25,000
< 7,500
Al 17,500
Ot SE 4 XA 34,000,000& x50% 17,000
< 5,100
Al 11,900
Jbs A2 O XT3 AL 50,000 46,000 4,000
< 15,000
Al 35,000
402 RIZEXtE0| A 50,000 46,000 4,000
< 15,000
Al 35,000
02 P2 XH2ALEZ(0IETHR) 50,000 46,000 4,000
OJt= Arr2tel e X3 ALY
100,000, 000& *50% 50,000
< 15,000
Al 35,000
ZEGAEY A 23 H KN2AY 55,000 43,000 12,000
= 16,500
Al 38,500
402 RI2HXt20l 55,000 43,000 12,000
= 16,500
Al 38,500
02 It 2 AL EZ (OIS ) 55,000 43,000 12,000
OZZAEY A 23A KNAAS
110,000, 000& *50% 55,000
< 16,500
Al 38,500
DFETHAN IS X2 AL (KHRI) 200,000 200,000 0
402 RI2HXt20l ™ 200,000 200,000 0
01 212t 2 AL E = (REMTH ) 200,000 200,000 0
ON=THoll hE SL&AIE - ZHl XNJAALS 200,000
IIEMEE XNJAAL(BEX) 693,000 693,000 0
< 198,000
Al 495,000
307 gl2tol & 693,000 693,000 0
< 198,000




EXN: Fat
a4 B L
SRl BAFYMADBTE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 495,000
02 QIZFA AAIE E X 693,000 693,000 0
OJ=MHEE =02 2= XNIAY
990,000,000 *70% 693,000
& 198,000
Al 495,000
TASMAD|BEEFS AL (READ) 481,900 259,500 222,400
201 LBt ]| 3,500 3,500 0
01 AP 22| H| 3,500 3,500 0
OZXANE AEIH HZE 50«70, 0000H 3,500
301 dEtE M= 90,000 90,000 0
12 JIEtE A= 90,000 90,000 0
OXAMNS (2424 S) MAFEHZ XA 90,000
402 BI2H X 20| M 338,400 156,000 182,400
01 It EANSEXR (ML) 338,400 156,000 182,400
OZAZE JINMH(2EHIY) NAS
100,000 4,400 = *36% 158,400
OXZANEE 244 ==3H NFAY
300,000, 000& *1CH *60% 180,000
405 XHA&HF S HI 50,000 10,000 40,000
01 XL 2 ZF S| 50,000 10,000 40,000
OXAE SEEXZAFEH 222 5,000,000& =10CH 50,000
TASMAD|BIESIS AL (EX) 287,333 267,333 20,000
o=t 86,200
Al 201,133
301 et A= 207,333 207,333 0
== 62,200
Al 145,133
12 JIEtE2 A= 207,333 207,333 0
OXAMNE MAEHZ XSAE
207,333,000 *100% 207,333
= 62,200
Al 145,133
402 SI2FXHE0| M 80,000 60,000 20,000
= 24,000
Al 56,000
02 CIZEXIEAIS X (0| XM THL) 80,000 60,000 20,000
OAlE XEJHEHE & Hl X & A
160,000,000 *50% 80,000
& 24,000
Al 56,000
TAE EE2ULXNNFA(EX) 23,192 18,000 5,192
J| 11,596
Al 11,596
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 23,192 18,000 5,192
J| 11,596
Al 11,596
04 JIZHHZ22XREES 23,192 18,000 5,192
OZAZEEHII HAH oAy
23,192,000 x100% 23,192
J| 11,596
Al 11,596
IAMNE MAS AIL2IXH XA (BEX) 2,238,192 1,768,500 469,692
J| 746,064
< 248,723
Al 1,243,405
307 gl2tol & 2,238,192 1,768,500 469,692
J| 746,064
< 248,723
Al 1,243,405
02 It M AHE L 2,238,192 1,768,500 469,692
OXZALZ Atel Xl MZEH X& A 2,238,192
J| 746,064
< 248,723
Al 1,243,405
ZANZBGMOIIA - FHXA(BX) 240,000 180,000 60,000
J| 60,000
< 54,000
Al 126,000
402 RIZEX20l A 240,000 180,000 60,000
J| 60,000
< 54,000
Al 126,000
02 U2 THEALEZ(0IETHR) 240,000 180,000 60,000
OXAE LM J1H - ZHl XEA
600,000,000 *40% 240,000
J| 60,000
< 54,000
Al 126,000
TAE MAE BEX7Y NA(BEX) 207,576 400,600 A 193,024
J| 88,986
Al 118,590
402 RIZEX20| A 207,576 400,600 A 193,024
J| 88,986
Al 118,590
02 U2 T EALEZ(0IETHR) 207,576 400,600 A 193,024
OZMNEE ENTY XA 207,576
J| 88,986
Al 118,590
NEE M ALY 2,729,575 2,239,759 489,816
J| 748,500
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 402,959
Al 1,578,116
IS 2% ElHISARS (REAI) 320,000 320,000 0
402 2I2H X201 M 320,000 320,000 0
01 2I2E 2 A B (KR ) 320,000 320,000 0
OJ=28 HEHMel(&H) XA
280,000& *1,000CH x50% 140,000
OFM=sll SE2Hl(SY S) NIAAMZ
360,000& *1,000CH x50% 180,000
SN AL (KEA) 380,000 380,000 0
402 QIZEXtE0| A 380,000 380,000 0
01 2IZE 2 AL B (RERTH ) 380,000 380,000 0
ONE2L AHYMAS XAAY
4,000& 90,0004 *50% 180,000
OJN=EEE HMelZHI(AIIERH) XA 200,000
SAF O ALY 1,180,400 261,060 919,340
J| 590,200
< 177,060
Al 413,140
402 RIZEX=20| M 1,180,400 261,060 919,340
J| 590,200
< 177,060
Al 413,140
02 QI EAIL EZ (01T ) 1,180,400 261,060 919,340
OF At FHIH & ALY 2,951,000,000& *40% 1,180,400
J| 590,200
< 177,060
Al 413,140
2=t A2 Hel&Zul X2 (XA 100,000 100,000 0
402 QI2EXt20l ™ 100,000 100,000 0
01 2IZt Xt 2 AL E = (REM ) 100,000 100,000 0
OJdt=esIt H2Xel&dl X&
10,000,000 «10CH 100,000
ERNRUSAMEXNA(HEAY) 91,200 94,260 A 3,060
< 76,000
Al 15,200
402 RIZEX201 ™ 91,200 94,260 A 3,060
< 76,000
Al 15,200
02 RIZEXt 2 AL EZ (OIS ) 91,200 94,260 A 3,060
OFZNSLSAE KNEAY
152,000, 0002 *60% 91,200
< 76,000
Al 15,200
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e JIIEEL XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SAMEHINA 39,825 30, 160 9,665
== 11,945
Al 27,880
307 2Iz2t0| A 39,825 30, 160 9,665
o= 11,945
Al 27,880
02 QIZHEAAIRE E X 39,825 30, 160 9,665
OFMEHMNEAY 39,825
& 11,945
Al 27,880
FHEAE IS N X& 23,580 12,800 10,780
& 7,074
Al 16,506
307 giztol & 23,580 12,800 10,780
= 7,074
Al 16,506
02 AI2tAAMAIE E =X 23,580 12,800 10,780
OZAeEtF3ME XNEXE AL
23,580,000 *100% 23,580
= 7,074
Al 16,506
HSNAES HtHEAE X 34,000 0 34,000
& 10,200
Al 23,800
402 SI2FXHE0| M 34,000 0 34,000
< 10,200
Al 23,800
02 CIZEXIEAIS EX (0| XM THL) 34,000 0 34,000
OHFFHMES HIH2IAE XNS3ALY
68,000,000 *50% 34,000
& 10,200
Al 23,800
EH €558 XIALE 90,000 44,100 45,900
= 27,000
Al 63,000
307 2iz2to| A 90,000 44,100 45,900
= 27,000
Al 63,000
02 QIZ2FA AAIE E X 90,000 44100 45,900
OEHl Z€5=& XSAY 150,000, 000& *60% 90,000
o 27,000
Al 63,000
SHF N QHMEER2AAE X 55,170 32,000 23,170
= 16,550
Al 38,620
402 12t X0l & 55,170 32,000 23,170
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 16,550
Al 38,620
02 LA TEALEZ(0IETHR) 55,170 32,000 23,170
OAFMZ AMHERAIE XA 55,170
< 16,550
Al 38,620
AFHEH ICT JIHEH XI& 60,000 0 60,000
J| 30,000
< 9,000
Al 21,000
405 Xt&HE SHI 60,000 0 60,000
J| 30,000
< 9,000
Al 21,000
01 AL EFH S 60,000 0 60,000
OAHE=F ICTIAHZEH N
20,000,000& »34! 60,000
J| 30,000
< 9,000
Al 21,000
==& s Ot 8 & A& st 140,000 0 140,000
J| 80,000
< 18,000
Al 42,000
402 RIZ2tXt20l ™ 140,000 0 140,000
J| 80,000
< 18,000
Al 42,000
02 2IZt 2 AL EZ (OIS ) 140,000 0 140,000
O3SXAs UISEEHI NS (SSEHIA) 140,000
J| 80,000
= 18,000
Al 42,000
=2 & - MU A ZH| 96,600 0 96,600
Jl| 48,300
< 14,490
Al 33,810
402 RI2EX=01 M 96,600 0 96,600
J| 48,300
< 14,490
Al 33,810
02 QIZEHEAS EZ (01X THS) 96,600 0 96,600
ONEZ2L & - HH&EH X
200,000 *483ha 96,600
J| 48,300
= 14,490
Al 33,810




EXN: Fat
a4 B L
e JIIEEL XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SHISAE IIFEL M2 ALY 7,800 0 7,800
= 2,340
Al 5,460
402 BI2H X 20| M 7,800 0 7,800
< 2,340
Al 5,460
02 QIZEXIEAIS E X (0| XM THL) 7,800 0 7,800
OIS HE2LHelAY
13,000, 000& *60% 7,800
& 2,340
Al 5,460
HHIMAX DS X HAHAE 91,000 0 91,000
= 27,300
Al 63,700
402 SI2vXH=20| & 91,000 0 91,000
o 27,300
Al 63,700
02 QIZEXIEAISE X (0| XM THL) 91,000 0 91,000
OMHI HAEEX DERSHKAN MAHAAE
130,000, 000& *70% 91,000
== 27,300
Al 63,700
24 RS FSMsHE NSALY 20,000 0 20,000
o= 6,000
Al 14,000
402 SI2FXHE0| ™ 20,000 0 20,000
o= 6,000
Al 14,000
02 QIZEXIEANISE X (0| XM THLH) 20,000 0 20,000
O=2% MRE FSatsd ASAY 20,000
& 6,000
Al 14,000
ohE ALY 5,012,018 4,887,533 124,485
2 2,187,558
J| 145,381
& 710,331
Al 1,968,748
oSt AYE Z2E ALY (KA 201,456 171,875 29,581
101 Q124 H| 26,236 20,205 6,031
02 JIE = 2 4 26,236 20,205 6,031
OZTEWHLON SABS H23
900,000 x12J00 & 10,800
OZZYALoA 2W224Y
9,579 x50A| 2t*x 1200 & 49,5792 «30A| 2F* 12 9,196
2
OB A=A 04| 80,000& 1201 & 960

_13_




SN ELD
ol &

Sl ISP ALY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SEEREEENEFECE:
40,0002 * 1274 & 480
OZ2F8 AL AL =HHl X&
400,000€ 120 & 4,800
201 gEt24d| 21,920 18,370 3,550
01 AP 22| H| 6,920 6,920 0
OAl 2t ArstAl Z2FH| 8,000) x2&H x245L 3,920
OAl MY U922 3,000
02 22| 15,000 11,450 3,550
OogtdA Xt g KAl 5,000, 000& «3CH 15,000
206 TH 2 H 100,000 100,000 0
01 24l 100,000 100,000 0
OYYEI X 2L AFS 3,000,000 9= 27,000
OASTINEL S AZAYAY
25,0002 %1, 100kg 27,500
OS0LK &M KNS ALS 50,000& *640S 32,000
Og A=E2sIt 2ASAEXE  10,000& *1,350Kkg 13,500
307 QI2t0| ™ 800 800 0
06 282 800 800 0
OMERI MilE2E 800,000 =14l 800
401 AlEHIZL 201 Y| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OJIs2Y XX AMEE2
30,000,000 =104 & 30,000
402 BI2H X 20| M 22,500 22,500 0
01 It EANSEXR (MMM A) 22,500 22,500 0
OFMsI MNHEANSASAA
4,500,000 *10CH *50% 22,500
A PEH KNSAS (XA 22,400 22,400 0
206 M = Hl 22,400 22,400 0
01 =4l 22,400 22,400 0
OFEA TEH 8 JM=s FHAMY
70,000 320 22,400
ZMI| HAEH KAS (KEAN) 55,000 55,000 0
206 M = dl 55,000 55,000 0
01 X2 H| 55,000 55,000 0]
OZMI| S4tsIF HEM X2AS
5,0008 %11,000% 55,000
SSAMH HMZIAAE XA (XA 105,000 93,000 12,000
402 SI2F 20| & 105,000 93,000 12,000
01 BIZtXIEANYE X (KM ) 105,000 93,000 12,000




2N
X ZH -
L= B

el

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

OsSAtH MelAld X& ALY
30,000, 000& »7CH *50%

105,000

s
>
HL

2oz

= W

,400,000
, 120,000

140,000
140,000

1,000,000

400,000

= W

,400,000
, 120,000

140,000
140,000

1,000,000

400,000

1,400,000, 000& *100%

= N H

—_

,400,000

,400,000
, 120,000

140,000
140,000

1,000,000

400,000

= Hn

643,261

294,411
100,842
248,008

653,974

A 10,713

206 M= Hl

= N W

475,261
210,411

72,842
192,008

485,974

A 10,713

365,261,000& *100%

25,0003 =4, 400kg

= M W

= M

475,261
365,261
210,411

39,842
115,008
110,000

33,000
77,000

485,974

A~ 10,713

= 0N

168,000
84,000
28,000
56,000

168,000

o
)
e

AN SAEEE(0IETHE)

OHHAXl WIAHOlAA HEAS XA
2,000& *140,0005 *60%

= MW

168,000

168,000
84,000
28,000
56,000

168,000

= M

32,470

9,740
22,730

32,470

= M

32,470

9,740
22,730

32,470
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=

i
2m

2
>
0
-

el | 32,470 32,470 0
OJsdgd 22294 32,470,000& = 100% 32,470

9,740
22,730

= M

A B4t & 298 WHEH| 140,000 156,000 A 16,000
42,000
28,000
70,000

= MW

301 LEIEN = 140,000 156,000 A 16,000
42,000
28,000
70,000

= H W

2IIEtE4 = 140,000 156,000 A 16,000
(=Nl
40,000, 000& *100% 140,000
42,000

28,000
70,000

O
>
|T
U
fix
Jaf]
0%
He
Y
o
0
— >

= HnH

JtSeAl X3 A 880,073 749,931 130, 142
559,096

102,219
218,758

= HnH

206 T 2 bl 201,573 190,931 10,642
132,846
22,194
46,533

= Hn W

01 M= dl 201,573 190,931 10,642

OFMA ol (SMs) RABAS 168,673
111,396
15,759
31,518
F 3t 42,900
21,450
6,435
15,015

O
4
é
12
JE
=
™
O
[>
Im
@
[>
o
> oW

=z N H

301 LEIEN = 243,500 205,000 38,500
121,750
36,525
85,225

= H W

>

12 J1EtE
oo

= 243,500 205,000 38,500

H 243,500
121,750
36,525
85,225

0;

JE
[
ikl
0K
=
>
=

= N W

402 BI2HX =01 M 435,000 354,000 81,000
304,500
43,500
87,000

Z W
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a4 B L
Sl ISP ALY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 QI 2H2| & A HI 435,000 354,000 81,000
OFHSY ol (dgs) ANIFAMY 435,000
2 304,500
o= 43,500
Al 87,000
FHE MAILESAHAH 2= 200,170 186, 130 14,040
& 61,275
Al 138,895
206 M = dl 161,250 60,250 101,000
& 48,375
Al 112,875
01 X2 bl 161,250 60,250 101,000
OFHE 2324 120,000,000 *100% 120,000
& 36,000
Al 84,000
OFHA BHAl AEY A 225 H XA
41,250,000 *100% 41,250
& 12,375
Al 28,875
301 LBt A= 2,200 101,400 A 99,200
= 660
Al 1,540
12 JIEtE A& 2 2,200 101,400 A 99,200
OUgHA B Al X
2,200,000 *100% 2,200
= 660
Al 1,540
402 BI2H X201 M 36,720 24,480 12,240
= 12,240
Al 24,480
02 CIZEXIEAIS EX (0| THL) 36,720 24,480 12,240
OXA HAIFEY o2Hd XI&AS
61,200,000 *60% 36,720
= 12,240
Al 24,480
Be Iy YAE N 25,053 22,515 2,538
= 7,158
Al 17,895
402 SI2vXH=20| ™ 25,053 0 25,053
o 7,158
Al 17,895
02 QIZEXIEAIS E X (0| XM THLH) 25,053 0 25,053
O2A BV ¥ 57| MY AIX&
8,540,000& *70% 5,978
== 1,708
Al 4,270
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M
2Hm
==
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9,250,000 «70% 6,475

1,850
4,625

= M

18,000,000& *70% 12,600

3,600
9,000

= M

HA A24dEe NE=XSA 24,000 30,000 26,000
12,000
3,600
8,400

= N H

307 21201 & 24,000 30,000 26,000
12,000
3,600
8,400

= M W

02 HAFHANEEX 24,000 30,000 26,000
AN A28 UESXEAMY

5,000, 000& *8IH 2~ «60% 24,000
12,000
3,600
8,400

= MW

e HAE 24 2 X 6,940 7,920 A 980

1,980
4,960

= M

402 BI2FX=01 M 6,940 7,920 980

1,980
Al 4,960

m

HEXZ(OIMTHE) 6,940 7,920 A 980
2 24 830 K& 6,940

< 1,980
Al 4,960

HXE2E HSEAS XA 63,812 66,288 N2,476
18,232
Al 45,580

H

402 212t A= 01 & 63,812 54,488 9,324

18,232
Al 45,580

H

02 Q2 2AMLE X (0 X THE) 63,812 54,488 9,324
OHANEYE Hegss NIAAM
91,160,000& *70% 63,812

18,232
Al 45,580

H

THA Al RHEAAL(SSAMHAKAIDI) 52,500 75,000 A 22,500

15,750
36,750

= M

402 2I2tXr=01 & 52,500 75,000 A 22,500
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 15,750
Al 36,750
02 LA TEALEZ(0IETHR) 52,500 75,000 A 22,500
OSSAAH MelAld XA
105,000, 000& *50% 52,500
< 15,750
Al 36,750
oSO gHEolzet 4XIX& 75,840 180,000 A 104,160
J| 37,920
< 11,376
Al 26,544
402 RI2EX=201 A 75,840 180,000 A 104,160
J| 37,920
< 11,376
Al 26,544
02 LA TEALEZ(0IETHR) 75,840 180,000 A 104,160
OFts) woioima &x X2
126,400,000& *60% 75,840
J| 37,920
< 11,376
Al 26,544
Jt=sor 2822 X&E 108,000 108,000 0
= 54,000
< 16,200
Al 37,800
307 glz2tol & 108,000 108,000 0
= 54,000
= 16,200
Al 37,800
02 It HAHE X 108,000 108,000 0
OJlissot 2g el XA
180,000,000& *60% 108,000
= 54,000
< 16,200
Al 37,800
Q| HAS2H XA 20,700 20,700 0
< 6,210
Al 14,490
206 M= Hl 20,700 20,700 0
< 6,210
Al 14,490
01 =8l 20,700 20,700 0
Ol HASHH X 30,000 690 20,700
< 6,210
Al 14,490
DEAL Al g9 21,000 40,000 A 19,000
< 6,300
Al 14,700




SN ELD
ol &

Sl JbEY S AY CERED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=
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206 M= Hl 21,000 40,000 A 19,000

6,300
Al 14,700

H

01 M= dl 21,000 40,000 A 19,000
ONFEHE Al A= HH]
600,000 *357H 2 «100% 21,000

6,300
14,700

= M

& Rollols LHMXS 96,121 48,000 48,121
28,836
Al 67,285

H

307 21201 & 64,000 48,000 16,000

19,200
44,800

= M

02 HAHFHYANEEX 64,000 48,000 16,000
H

20,000,000 *4JH 2~ x80% 64,000

19,200
44,800

= M

402 BI2HX=01 M 32,121 0 32,121

9,636
Al 22,485

m

HEXZ(OIETE) 32,121 0 32,121
HERM XI& 40,151,000& *80% 32,121

9,636
Al 22,485

H

eelsIt S E7] el XA 51,200 51,200 0
15,360
Al 35,840

H

307 21201 A 51,200 0 51,200

15,360
Al 35,840

H

02 HAFHANGEEX 51,200 0 51,200
J

200 *320,000==*80% 51,200

15,360
35,840

=

Al ZHOI B A S E &I EHl X3 11,250 11,250 0
5,625
1,688
3,937

= M W

wW
<
e
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HL
o
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11,250 11,250 0
5,625
1,688
3,937

= MW

>

12IIEt2d= 11,250 11,250 0

0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAl &3 AHl XI& 11,250
2 5,625
< 1,688
Al 3,937
BEMSSIH HIASIHH XA 36,000 36,000 0
= 10,800
Al 25,200
402 QIZ2FXt20l ™ 36,000 36,000 0
< 10,800
Al 25,200
02 RIZt 2 AL EZ (01X & 36,000 36,000 0
OxEA=sIH HAS2H XN&
45,000,000 *80% 36,000
< 10,800
Al 25,200
SsEHY 2 XA 214,921 210,581 4,340
J| 107,461
< 32,238
Al 75,222
402 RIZER20l ™ 214,921 210,581 4,340
p] 107,461
< 32,238
Al 75,222
03 212t AL S HI 214,921 210,581 4,340
OZs&HE A 110,960, 000& *100% 110,960
J| 55,480
< 16,644
Al 38,836
OS2 HE 294l 103,961,000& *100% 103,961
J| 51,981
< 15,594
Al 36,386
sz 29 &€ A=HE X 132,000 132,000 0
2 66,000
Al 66,000
101 1244 dl 115,000 80,000 35,000
2 57,500
Al 57,500
4 D12t Z2XREES 115,000 80,000 35,000
Oas=x=a o14dl K& 115,000, 000& *100% 115,000
2 57,500
Al 57,500
201 Let24d] 17,000 27,000 210,000
= 8,500
Al 8,500
02 =224l 17,000 17,000 0
Ox=2 22l 17,000, 0002 »100% 17,000
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240,000
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402 RI2FX=01 M

H

Al

240,000

60,000
180,000

240,000

240,000, 000& *100%

H

Al

240,000
240,000

60,000
180,000

240,000

HEBASAE HE=>= K&

H

Al

20,000

10,000
10,000

20,000

402 212t A= 01 &

H

Al

20,000

10,000
10,000

20,000

EQURSPUE-D!

(
HE= X

()
N
o
rJ
-
r
>
©Q
W H

0

20,000, 000& *100%

= N

20,000

20,000

10,000
10,000

20,000

= M W

34,451
17,226

5,167
12,058

30,294

4,157

= MW

34,451
17,226

5,167
12,058

30,294

4,157

= N W

34,451

34,451
17,226

5,167
12,058

30,294

4,157
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U
40
x
o
i
o
S
0
>
>
o
0K
(il
=
4
i

Z W

14,400
7,200
2,160
5,040

14,400

=z N H

14,400
7,200
2,160
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14,400

OXNYRHAAFI HAME Z2UH 25 X
(o]
o

14,400, 000& *100%

~

14,400

14,400
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=

M
2Hm
==
£l
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7,200
2,160
5,040

= Hn

S=2A =H 84,000 84,000 0
25,200
58,800

= M

301 LetE2H S 84,000 84,000 0

25,200
Al 58,800

H

PAE=] 84,000 84,000 0
O3%AMN =¥ 1,000, 0002 * 1204 2 +7 ¢ 84,000

= 25,200
Al 58,800

=X ALY 904,260 0 904,260
19,770
Il 60,880
460,643
Al 362,967

H

H

SE=X(XA) 5,000 0 5,000

206 M= Hl 5,000 0 5,000

01 M= dl 5,000 0 5,000
Oss2= =3+l 5,000, 000& *100% 5,000

SRAKRIISSLLHXNE(EX) 1,500 0 1,500
750
225
525

=z N W

301 LEIEN S 1,500 0 1,500
750
225
525

=z o W

12 IIEtE 4= 1,500 0 1,500
22l K& ALY

2,500,000& *60% 1,500
750
225
525

3
10
S
O
Mo
0.

= N H

[AURIESSIEIUESH N (2X) 15,400 0 15,400
4,620
3,234
7,546

=z N H

301 LEIEN S 15,400 0 15,400
4,620
3,234
7,546

= N H

12IIEtE 4= 156,400 0 15,400
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==
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| XA
5,400,000 «100% 15,400
4,620
3,234
7,546

O
10
>
30
S|
0
Mo
4
va!
N
HT
foh
— [T

= MW

2020 S4st+=H N (EX) 40,000 0 40,000
8,000
9,600
22,400

= W

301 LetE2H = 40,000 0 40,000
8,000
9,600

22,400

= W

243 40,000 0 40,000
OzZ120l 43t =4 NEAMY

40,000, 0002 *100% 40,000

8,000

9,600

22,400

0x

= M W

28,800 0 28,800
6,400
6,720

15,680

1o
e
-
19
>
to
>
0
[
Ol
0x
o
4>
8
-
{0
[
P

= M W

301 LetE2H S 28,800 0 28,800
6,400
6,720
156,680

= N W

243 28,800 0 28,800
OS8XY 2AMSA Sdats= XNEAMY

32,000,000& «90% 28,800

6,400

6,720

15,680

= 0 H

S=E2ESAMY 120,000 0 120,000

36,000
84,000

= M

301 2 H S 120,000 0 120,000

36,000
Al 84,000

M

12JEEd =S 120,000 0 120,000
RIlsS2 E3AE 120,000, 000& *100% 120,000

36,000
Al 84,000

H

RIls=s 2XEH &€ A=2e X& 10,600 0 10,600

3,180
7,420

= M

301 LerEA S 10,600 0 10,600
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EXN: Fat
a4 B L
e SE2=XAY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,180
Al 7,420
12 JIEtE A= 10,600 0 10,600
SIs2 FAEH & AIZ=22 A&
10,600, 000 *100% 10,600
& 3,180
Al 7,420
= A SHACCPZH & &l X & (A AFSHA|) 32,200 0 32,200
J| 18,400
& 4,140
Al 9,660
307 2iz2to| A 32,200 0 32,200
J| 18,400
&< 4,140
Al 9,660
02 QIZ2FA AAIE E X 32,200 0 32,200
OFAHE HACCP ZHAEE XA
46,000,000 x70% 32,200
J| 18,400
& 4,140
Al 9,660
N NEECPEICES! 84,960 0 84,960
J| 42,480
= 12,744
Al 29,736
402 SI2FXHE0| & 84,960 0 84,960
J| 42,480
= 12,744
Al 29,736
03 QI 2t EF A HI 84,960 0 84,960
OADI| OlEH XNR_AMNG(HELEH])
84,960,000 *100% 84,960
J| 42,480
= 12,744
Al 29,736
HESHAFAS OIS 15,800 0 15,800
= 4,800
Al 11,000
301 et A= 15,800 0 15,800
= 4,800
Al 11,000
12 JIEtE2 A= 15,800 0 15,800
OBAEMNE OIEH NAAL
15,800,000 *100% 15,800
& 4,800
Al 11,000
ANZHE SME MXIIIE SFSAIE =(HEAIY) 490,000 0 490,000
& 350,000




A &
a4 B L
Sl S22 AY CERED
= - — L=
SN HH-S(BN) - MBAY - B il HlnE2
Al 140,000
402 RI2EX20| A 490,000 0 490,000
< 350,000
Al 140,000
02 QIZEHEAIL B (01X S) 490,000 0 490,000
ONZHE Z42 UXIIB SENE 75
700,000,000& *70% 490,000
< 350,000
Al 140,000
AS BCAAE S AL (HSAIY) 60,000 0 60,000
S 30,000
Al 30,000
402 RI2FX=01 M 60,000 0 60,000
< 30,000
Al 30,000
02 QIZEHEAIL EZ (01X THE) 60,000 0 60,000
OFLE SEANLE 2F AY 60,000
= 30,000
Al 30,000
HOHE A5 70,660 ,580 A 44,920
= 12,940
< 29,040
Al 28,680
GAIE BANL ALY (2F)(HEA) 16,000 ,000 0
< 4,800
Al 11,200
307 21201 A 16,000 ,000 0
< 4,800
Al 11,200
02 LAFHAANGFEX 16,000 ,000 0
ONAIH S3HEAY 16hax1,000,000& 16,000
< 4,800
Al 11,200
A JHEE 2EALY 3,240 ,240 0
< 972
Al 2,268
402 RI2HXt20l ™ 3,240 ,240 0
= 972
Al 2,268
02 It 2 AL EZ (01X THS) 3,240 ,240 0
OLAZ WA AsAY 5,400,000 *60% 3,240
< 972
Al 2,268
YA ASH KA 800 800 0
< 240
Al 560
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X ZH -
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=41
4 2¥ L
LH 481012 & & 5t

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
402 BI2FX=01 M 800 800 0
< 240
Al 560
02 QI EASEZ (01X ) 800 800 0
O2AE A=H XJFAE 2,500 *400kg*80% 800
< 240
Al 560
D42 US NAY 12,940 11,740 1,200
= 12,940
402 RIZEXt20l ™ 12,940 11,740 1,200
= 12,940
02 DIt 2AIL B (01 &) 12,940 11,740 1,200
Od=2 - ZZ s NEAY
16, 175,000& *80% 12,940
= 12,940
=NME RSAME X3S 4,200 8,400 AN4,200
< 1,260
Al 2,940
402 RI2EX20l A 4,200 8,400 A 4,200
< 1,260
Al 2,940
02 QI EAIL B (01 &) 4,200 8,400 24,200
Oxds d& SSAE N
6,000,000& * 100 2 x70% 4,200
< 1,260
Al 2,940
SNMBT HYYRAS (HEAL) 21,000 25,000 A4,000
< 16,800
Al 4,200
206 M= Hl 21,000 25,000 A 4,000
< 16,800
Al 4,200
01 =8l 21,000 25,000 A 4,000
Ox&SI WL LR AL 21,000
< 16,800
Al 4,200
oY - HE SYIINIXNSAIG (22U 12,240 0 12,240
< 4,896
Al 7,344
201 L2 | 240 0 240
= 9%
Al 144
01 At 22l 240 0 240
Of4td - & 3UH IR XA (B AYI
) 240
< 96




SN EAD
My B4 AMY L3
Sl L2022 a5 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 144
301 LEAZ 12,000 0 12,000
< 4,800
Al 7,200
12 JIEBHE4 S 12,000 0 12,000
O=x4ted - oE SUH IR XA (HUSY
=) 2001 J++600,000& 12,000
< 4,800
Al 7,200
oo M IH 282 XN 240 0 240
< 72
Al 168
307 gl2tol & 240 0 240
< 72
Al 168
02 It M AHE L 240 0 240
Ongo tdZH E82 X
200, 0003 *2H *60% 240
< 72
Al 168
=Sk == 332,040 348,282 N 16,242
| 199,224
< 33,204
Al 99,612
s g4 A& 332,040 348,282 N 16,242
J| 199,224
< 33,204
Al 99,612
SNRRIA(EX) 332,040 348,282 N 16,242
J| 199,224
< 33,204
Al 99,612
402 RI2EXt20| ™ 332,040 0 332,040
| 199,224
< 33,204
Al 99,612
03 BIZHR[EF AL HI 332,040 0 332,040
OguRRSAAY 332,040,000& *100% 332,040
| 199,224
< 33,204
Al 99,612
HZ2F A 17,600 17,600 0
Jl=234l 17,600 17,600 0
Jl23Hl 17,600 17,600 0
201 Let249] 7,000 7,000 0
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